2004 vs 2009 ZDC Ay at 200 GeV

ePolarizations double-checked
o/DC Calorimeter thresholds
*BBC multiplicity
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Offline Polarizations - 2004
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0.307274

We had been
using 26% for
each beam —
this is wrong!
Straight average
for blue beam is
40% and for
yellow beam is
30%
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Run 4 ZDC A N vs BBC Hit Multiplicity
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Remarks

e Seems run4 analyzing powers were ~3% and
~5%, not the 7-8% originally claimed

 Analyzing power in run9 data clearly decreases
with threshold but hard to tell in run4
— Think it’s clear threshold was relatively much higher in
9vs4
* Analyzing power decreases when BBC
multiplicity goes from 2 to 3
— 2009 mean hit multiplicity is closer to 3 than 2
— 2004 mean hit multiplicity is closer to 2 than 3
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